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Q1. Use the definition of derivative to find f'(x) where f(x)=¥Yx+1
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Q2. State and then prove the Quotient Derivative Rule (Division Rule).
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Q3. Find the limit if it is exist Jim L= ¥
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Q4. Find the limit if it is exist limvx* +x+1-x m —+ K
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Q5. Find Derivative of f(x) = == + =
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Q6. Find £, /(D and 70 £ =251 1
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Q7. Findk if the curve y = x* +k is tangent to the line y=2x
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Q8. If f(x)==x[x| thenfind £'(0)
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Q9.Find Ayfor f(x)=x"+x*-1 if x changes from 2 to 2.1 then find the rate of change.
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Q10.If f(x) is continuous function with £(0) =2 and g(x) =~ _— &0 ¥ tin . s
find lim[7(x)+ g(x)]
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